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responses marked by you in the Answer Sheet.
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mark more than one Answer for one question, the answer will be treated as wrong. Use Black/Blue
ink ballpoint pen only to mark the answer in the Answer Sheet. Any erasure or change is not
allowed.

10. If there is any sort of mistake either of printing or of factual nature, then out of English and Hindi
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11. You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination has concluded, you must hand over your Answer Sheet to the
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PART—I

( LANGUAGE )

Directions (Q. Nos. E-1 and E-2) : Fill

in the blanks with suitable articles like

‘a’, ‘an’ and ‘the’ :

E-1. I have so many _____ good

friends.

(A) a

(B) an

(C) the

(D) More than one of the above

(E) None of the above

E-2. I want to build _____ very big

house.

(A) a

(B) an

(C) the

(D) More than one of the above

(E) None of the above

E-3. Which of the following is not

a part of a garden?

(A) Flowers

(B) Grass

(C) Wardrobe

(D) More than one of the above

(E) None of the above

E-4. Which of the following is a part

of railway station?

(A) Platform

(B) Overbridge

(C) Arrival-Departure

(D) More than one of the above

(E) None of the above

E-5. The sixth letter in the alphabet

after J will be

(A) G

(B) P

(C) O

(D) More than one of the above

(E) None of the above

E-6. In a zoo, _____ live in cages.

(A) birds

(B) animals

(C) snakes

(D) More than one of the above

(E) None of the above

E-7. Daughter’s daughter is

(A) sibling

(B) niece

(C) cousin

(D) More than one of the above

(E) None of the above

E-8. My siblings are my

(A) cousins

(B) brothers and sisters

(C) in-laws

(D) More than one of the above

(E) None of the above
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( Hindi Language )

H-9. "g_wÇdb' e„X _| {H$g CngJ© H$m ‡`moJ
h˛Am h°?

(A) g_

(B) gZ≤

(C) g_≤

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-10. {ZÂZ{b{IV _| go H$m°Z-gm e„X "A'
CngJ©-`w∫$ h°?

(A) AWmh

(B) AZnãT>

(C) A{ZÔ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-11. {ZÂZ{b{IV _| go H$m°Z-gm e„X "Am'
‡À``-`w∫$ h°?

(A) Ym{_©H$

(B) Agbr

(C) fl`mam

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-12. "{Og_| XmoZm| nX ‡YmZ hmoVo h¢' dh H$m°Z-gm
g_mg h°?

(A) AÏ``r^md

(B) ¤ß¤

(C) ~h˛d´r{h

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-13. "O›_mßY' e„X _| H$m°Z-gm g_mg h°?

(A) VÀnwÈf

(B) H$_©Yma`

(C) {¤Jw

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-14. Òda gß{Y Ho$ {H$VZo _wª` ‡H$ma h¢?

(A) Mma

(B) nm±M

(C) N>Ö

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-15. "AVrd' H$m gß{Y-{d¿N>oX hmoJm

(A) A{V + Bd

(B) A + Vrd

(C) AVr + d

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-16. "‡À`wŒma' e„X _| H$m°Z-gr gß{Y h°?

(A) d•{’ gß{Y

(B) A`m{X gß{Y

(C) `U gß{Y

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

21/PV/M–2023–01/S6 (P)/301-A 3 [ P.T.O.



H-17. "_ZmoaßOZ' e„X H$m gß{Y-{d¿N>oX hmoJm

(A) _ZÖ + aßOZ

(B) _Zmo + aßOZ

(C) _Z + aßOZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-18. {dam_-{Mï ";' H$mo ä`m H$hVo h¢?

(A) AÎn-{dam_

(B) AY©-{dam_

(C) `moOH$-{Mï

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-19. {h›Xr e„XH$moe _|, {ZÂZ{b{IV _| go
H$m°Z-gm e„X g~go nhbo AmVm h°?

(A) {eÔ>mMma

(B) ÌbmKm

(C) lo`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-20. "Ï`mg' e„X H$m {dbmo_ h°

(A) g_mg

(B) g_W©Z

(C) ‡mdYmZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-21. {h›Xr _| ‡M{bV {dXoer ^mfm Am°a CgHo$
e„X H$m H$m°Z-gm `wΩ_ ghr Zht h°?

(A) Aa~rççAX~

(B) VwH$s©ççA_Í$X

(C) \$magrççAmµOmXr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-22. "_Jhr' {H$g Cn^mfm H$s ~mobr h°?

(A) {~hmar

(B) nydu {h›Xr

(C) nhmãS>r

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-23. ""nmR>H$ Ho$ ^md~moY H$mo gab Am°a gw~moY
~ZmZo Ho$ {bE _____ H$m ‡`moJ hmoVm h°ü&''
Bg dmä` _| [a∫$ ÒWmZ Ho$ {bE C{MV e„X
ä`m hmoJm?

(A) ‡ÌZ-{Mïm|

(B) `moOH$-{Mïm|

(C) {dam_-{Mïm|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-24. H$m°Z-gm {dH$În {dam_-{Mï H$m ^oX Zht

h°?

(A) AY©-{dam_

(B) _‹`-{dam_

(C) AßÀ`-{dam_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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H-25. H$m°Z-gm hOmar ‡gmX {¤doXr H$m {Z~ßY Zht

h°?

(A) AemoH$ Ho$ \y$b

(B) _OXyar Am°a ‡o_

(C) Hw$Q>O

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-26. Cn›`mg Am°a Cn›`mgH$ma H$m H$m°Z-gm `wΩ_
ghr Zht h°?

(A) Owbygçç\$UrúaZmW aoUw

(B) A±Yoao ~ßX H$_aoççZaoe _ohVm

(C) ZB© nm°YççH$_boúa

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-27. dh e„X-e{∫$ {OgHo$ ¤mam grYo H$WZ,
gmjmV≤ gßHo${VV `m _wª` AW© H$m kmZ hmoVm
h°, Cgo H$hVo h¢

(A) A{^Ym

(B) bjUm

(C) Ï`ßOZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-28. ‹d{Z-{g’mßV Ho$ ‡{VnmXH$ AmMm`© h°ß

(A) {dúZmW

(B) AmZßXdY©Z

(C) np�S>VamO OJfimW

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-29. {ZÂZ{b{IV H$WZm|, ÒWmnZm (A) Am°a VH©$
(~) na {dMma H$s{OE Am°a ZrMo {XE JE
Hy$Q> go ghr {dH$În H$m M`Z H$s{OE :

ÒWmnZm (A) : H$bm H$m CX` OrdZ go h°ü&

VH©$ (~) : H$bm OrdZ H$mo OrZo `moΩ` ~ZmH$a
Cgo D±$Mm CR>mVr h°ü&

Hy$Q> :

(A) (A) ghr h° Am°a (~) JbV h°

(B) (A) Am°a (~) XmoZm| ghr h¢

(C) (A) JbV h° Am°a (~) ghr h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

H-30. {ZÂZ{b{IV H$WZm|, ÒWmnZm (A) Am°a VH©$
(~) na {dMma H$s{OE Am°a ZrMo {XE JE
Hy$Q> go ghr {dH$În H$m M`Z H$s{OE :

ÒWmnZm (A) : amÔ¥>r`Vm EH$ nwZrV ^mdZm h°ü&

VH©$ (~) : n[adV©ZerbVm H$^r ^r g•{Ô> H$m
emúV {Z`_ Zht ahr h°ü&

Hy$Q> :

(A) (A) JbV h° Am°a (~) ghr h°

(B) (A) Am°a (~) XmoZm| JbV h¢

(C) (A) ghr h° Am°a (~) JbV h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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 
 U-13 U-9 





   /  / 












 

 

 /  /  - U-9



 (A)

 (B)

 (C)

 (D)

 (E)

 - U-10



 (A)

 (B)

 (C)
 (D)
 (E)

 - U-11
 (A)

 (B)

 (C)
 (D)
 (E)

 - U-12


 (A)

 (B)

 (C)
 (D)
 (E)

 - U-13
 (A)

 (B)

 (C)
 (D)
 (E)

Urdu Language



 - U-14

 (A)

  (B)

  (C)

 (D)

 (E)

 - U-15




 (A)

 (B)

 (C)

 (D)

 (E)

 - U-16

 (A)

 (B)

 (C)

 (D)

 (E)

 - U-17



 (A)

 (B)

 (C)

 (D)

 (E)

 - U-18



 (A)

 (B)

 (C)

 (D)

 (E)

 - U-19

 (A)

 (B)

 (C)

 (D)

 (E)
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 - U-20



 (A)

 (B)

 (C)

 (D)

 (E)

 - U-21







 (A)

 (B)

 (C)

 (D)

 (E)

 - U-22



 (A)

 (B)

 (C)

 (D)

 (E)

 - U-23




 (A)

 (B)

 (C)

 (D)

 (E)

 - U-24

 (A)

 (B)

 (C)

 (D)

 (E)
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 - U-25

 (A)

 (B)

 (C)

 (D)

 (E)

 - U-26

 (A)

 (B)

 (C)

 (D)

 (E)

 - U-27

 (A)

 (B)

 (C)

 (D)

 (E)

 - U-28

 (A)

 (B)

 (C)

 (D)

 (E)

 - U-29



 (A)

 (B)

 (C)

 (D)

 (E)

 - U-30




 (A)

 (B)

 (C)

 (D)

 (E)
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( Bengali Language )

[>ìƒ¢Å (šøÅ— Î}J¸à 9 ë=ìA¡ 13) : [>³—[º[Jt¡
">åìZáƒ[i¡ šàk¡ A¡ì¹ >ãìW¡ ëƒ*Úà šøÅ—P¡[º¹ Î[k¡A¡¡
l¡üv¡¹ [>¤¢àW¡> A¡ì¹à¡ú

šÒüt¡à l¡üšºìÛ¡ ³à=à ³åØl¡àÒüÚà ®¡Úà>A¡ ®¡à¤>à ÒÒüº,
ÒüÑAå¡º ™àÒü¤ A¡ã A¡[¹Úà¡ú ëKà\à[t¡¹ šø[t¡ [ó¡[¹[U¹
ëáìº¹ "à”z[¹A¡ "àA¡È¢o ë™³[> =àAô¡ ¤øàÕ¡ìo¹ šø[t¡
ët¡à t¡àÒàìƒ¹ ®¡[v¡û¡ >àÒü! "t¡&¤, ë>Øl¡à ³à=à¹ l¡üšì¹
t¡àÒà¹à "à¹ ëA¡àì>à [\[>Î ¤È¢o ™[ƒ >à-* A¡ì¹ t¡ì¤
ÒàÎ¸¤È¢o ët¡à A¡[¹ì¤Òü¡ú

&³> ƒå[ÆW¡”zà¹ Î³ìÚ &A¡[ƒ> ët¡t¡àºà¹ Qì¹ l¡àA¡
š[Øl¡º¡ú [št¡à [\`¡àÎà A¡[¹ìº>, "à[³ tò¡àÒà¹ ÎìU
[Ò³àºÚ ™àÒüìt¡ W¡àÒü [A¡>à¡ú ‘W¡àÒü’ &Òü A¡=ài¡à ™[ƒ
W¡ã;A¡à¹ A¡[¹Úà "àA¡àÅ ó¡ài¡àÒüÚà ¤[ºìt¡ šà[¹t¡à³, t¡ì¤
³ì>¹ ®¡àì¤¹ l¡üš™åv¡û¡ l¡üv¡¹ ÒÒüt¡¡ú ëA¡à=àÚ ë¤Uº
&A¡àìl¡[³ "à¹ ëA¡à=àÚ [Ò³àºÚ!

¤à[Øl¡ ÒÒüìt¡ ™àyà A¡[¹¤à¹ Î³Ú [št¡à tò¡àÒà¹ [W¡¹¹ã[t¡
">åÎàì¹ ¤à[Øl¡¹ ÎA¡ºìA¡ ƒàºàì> ºÒüÚà l¡üšàÎ>à
A¡[¹ìº> ; P¡¹ç¡\>[ƒKìA¡ šøoà³ A¡[¹Úà [št¡à¹ ÎìU
Kà[Øl¡ìt¡ W¡[Øl¡ºà³¡ú "à³à¹ ¤ÚìÎ &Òü šø=³ "à³à¹ \>¸
ëšàÅàA¡ ít¡[¹ ÒÒüÚàìá¡ú A¡ã ¹ìR¡¹ [A¡¹ê¡š A¡àšØl¡ ÒÒüì¤
t¡àÒà Ñ¬Ú} [št¡à "àìƒÅ A¡[¹Úà [ƒÚà[áìº>¡ú ³à=à¹ \>¸
&A¡i¡à \[¹¹ A¡à\-A¡¹à ëKàº ³J³ìº¹ iå¡[š ÒÒüÚà[áº¡ú
ëÎi¡à "à³à¹ Òàìt¡ [áº, A¡à¹o ë>Øl¡à ³à=à¹ l¡üš¹ iå¡[š
š[¹ìt¡ "à³à¹ ³ì> ³ì> "àš[v¡ [áº¡ú Kà[Øl¡ìt¡ l¡ü[k¡ÚàÒü
[št¡à ¤[ºìº>, ‘‘³à=àÚ šì¹à¡ú’’ [št¡à¹ A¡àìá
™=à¹ã[t¡ š[¹ZáÄt¡à¹ yç¡[i¡ ÒÒü¤à¹ ë\à >àÒü¡ú º[ðt¡
³ÑzìA¡¹ l¡üš¹ iå¡[ši¡à š[¹ìt¡Òü ÒÒüº¡ú ë¹ºKà[Øl¡ìt¡ &A¡iå¡
Îåì™àK ¤å[c¡ìºÒü iå¡[ši¡à Jå[ºÚà ¹à[Jt¡à³¡ú [A¡”ñ, [št¡à¹
ƒõ[Ê¡ &A¡¤à¹* &Øl¡àÒüt¡ >à¡ú t¡J>Òü ëÎi¡àìA¡ Ñ¬Ñ‚àì>
tå¡[ºìt¡ ÒÒüt¡¡ú

ëáàìi¡à ÒÒüìt¡ ¤Øl¡ š™¢”z [štõ¡ìƒì¤¹ Î³Ñz A¡¿>à &¤}
A¡à\ "t¡¸”z ™=à™= [áº¡ú [t¡[> ³ì>¹ ³ì‹¸ ëA¡àì>à
[\[>Î c¡àšÎà ¹à[Jìt¡ šà[¹ìt¡> >à, &¤} t¡òàÒà¹
A¡àì\* ë™³>-ët¡³> A¡[¹Úà [A¡áå ÒÒü¤à¹ ë\à [áº >à¡ú
tò¡àÒà¹ šø[t¡ "ì>¸¹ &¤} "ì>¸¹ šø[t¡ tò¡àÒà¹ Î³Ñz
A¡t¢¡¤¸ "t¡¸”z Îå[>[ƒ¢Ê¡ [áº¡ú "à³àìƒ¹ \à[t¡Kt¡ Ñ¬®¡à¤i¡à

™ì=Ê¡ [n¡ºàn¡àºà¡ú "¿Ñ¬¿ &[ƒA¡-*[ƒA¡ Ò*ÚàìA¡ "à³¹à
‹t¢¡ì¤¸¹ ³ì‹¸Òü Ko¸ A¡[¹ >à¡ú ëÎÒü\>¸ tò¡àÒà¹ ÎìU
¤¸¤Òàì¹ "à³àìƒ¹ ÎA¡ºìA¡Òü "t¡¸”z ®¡ãt¡ * Ît¡A¢¡
=à[A¡ìt¡ ÒÒüt¡¡ú l¡ü[>Å-[¤Å ÒÒüìº ÒÚìt¡à [A¡áå Û¡[t¡-
¤õ[‡ý¡ >à ÒÒüìt¡¡ šàì¹, [A¡”ñ t¡àÒàìt¡ ¤¸¤Ñ‚à¹ ë™
ëºÅ³ày >Øl¡W¡Øl¡ Qìi¡ ëÎÒüJàì> [t¡[> "àQàt¡ šàÒüìt¡>¡ú
[t¡[> ™àÒà Î}A¡¿ A¡[¹ìt¡> t¡àÒà¹ šøìt¡¸A¡ "Ušøt¡¸U
[t¡[> ³>ÆW¡Ûå¡ìt¡ ÑšÊ¡¹ê¡ìš šøt¡¸Û¡ A¡[¹Úà ºÒüìt¡>¡ú &Òü
\>¸ ëA¡àì>à [yû¡ÚàA¡ì³¢ ëA¡à>ô [\[>Îi¡à [k¡A¡ ëA¡à=àÚ
=à[A¡ì¤, ëA¡ ëA¡à=àÚ ¤[Îì¤, A¡àÒà¹ šø[t¡ ëA¡à>ô A¡àì\¹
A¡t¡iå¡Aå¡ ®¡à¹ =à[A¡ì¤, Î³ÑzÒü [t¡[> "àKàìKàØl¡à ³ì>¹
³ì‹¸ [k¡A¡ A¡[¹Úà ºÒüìt¡> &¤} [A¡áåìt¡Òü ëA¡àì>à "}ìÅ
t¡àÒà¹ ">¸=à ÒÒüìt¡ [ƒìt¡> >à¡ú t¡àÒà¹ šì¹
ëÎ-A¡à\i¡à Î´šÄ ÒÒüÚà ëKìº >à>à ëºàìA¡¹ A¡àìá
t¡àÒà¹ [¤¤¹o Ç¡[>ìt¡>¡ú šøìt¡¸ìA¡¹ ¤o¢>à [³ºàÒüÚà
ºÒüÚà &¤} ³ì>¹ ³ì‹¸ ë\àØl¡à [ƒÚà Qi¡>à[i¡ [t¡[> ÑšÊ¡
A¡[¹Úà ëƒ[Jìt¡ ëW¡Ê¡à A¡[¹ìt¡>¡ú &-Î´¬ìÞê¡ "à³àìƒ¹
ëƒìÅ¹ \à[t¡Kt¡ ‹³¢ tò¡àÒà¹ &ìA¡¤àì¹Òü [áº >à¡ú tò¡àÒà¹
Î}A¡ì¿, [W¡”zàÚ, "àW¡¹ìo * ">åË¡àì> [t¡º³ày íÅ[=º¸
Q[i¡¤à¹ l¡üšàÚ =à[A¡t¡ >à¡ú &Òü\>¸ [Ò³àºÚ ™àyàÚ
tò¡àÒà¹ A¡àìá ™t¡[ƒ> [áºà³, &A¡[ƒìA¡ "à³à¹ šøWå¡¹
š[¹³àìo Ñ¬à‹ã>t¡à [áº, ">¸[ƒìA¡ Î³Ñz "àW¡¹o
"ºVQ¸¹ê¡ìš [>[ƒ¢Ê¡ [áº¡ú ë™Jàì> [t¡[> áå[i¡ [ƒìt¡>
ëÎJàì> [t¡[> ëA¡àì>à A¡à¹ìo ëA¡àì>à ¤à‹àÒü [ƒìt¡> >à,
ë™Jàì> [t¡[> [>Ú³ ¤òà[‹ìt¡> ëÎJàì> [t¡[> ëºÅ³ày
[á‰ ¹à[Jìt¡> >à¡ú

B-9. ">åìZáìƒ l¡ü[À[Jt¡ ‘‘ÒüÑAå¡º ™àÒü¤ A¡ã
A¡[¹Úà’’ ¤ºìt¡ ëA¡à>ô ÑAå¡ìº¹ A¡=à ¤ºà
ÒìÚìá?
(A) >³¢¸àº ÑAå¡º

(B) Nøà³à¹ ÑAå¡º

(C) ë¤Uº &A¡àìl¡[³

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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B-10. ‘‘[t¡[> ™àÒà Î}A¡¿ A¡[¹ìt¡>...’’

‘Î}A¡¿’ Åì¦¹ Î³à=¢A¡ Å¦ ëA¡à>[i¡?

(A) šø[t¡`¡à

(B) ¤àÎ>à

(C) A¡à³>à

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-11. ‘‘...šøìt¡¸A¡ "Ušøt¡¸U [t¡[> ³>ÆW¡Ûå¡ìt¡
ÑšÊ¡¹ê¡ìš šøt¡¸Û¡ A¡[¹Úà ºÒüìt¡>¡ú’’

‘³>ÆW¡Ûå¡’ Åì¦¹ "àÛ¡[¹A¡ "=¢ Òº

(A) [ƒ¤¸ƒÅ¢>

(B) ³>ÑHà³>à

(C) ³ì>¹ ëW¡àJ

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-12. ‘‘...">¸[ƒìA¡ Î³Ñz "àW¡¹o "ºVQ¸¹ê¡ìš
[>[ƒ¢Ê¡ [áº¡ú’’

‘"ºVQ¸’ Åì¦¹ "=¢ Òº

(A) [Ò³àºÚ

(B) "³à>¸

(C) ">[t¡yû¡³¸

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-13. ‘‘...ëÎJàì> [t¡[> ëºÅ³ày [á‰ ¹à[Jìt¡>
>à¡ú’’

‘[á‰’ Åì¦¹ Î³à=¢A¡ Å¦ Òº

(A) ¹Þøý¡

(B) š[¹Î¹

(C) íÅ[=º¸

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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B-14. J, á, k¡, =, ó¡—&Òü ¤o¢P¡[º Òº

(A) "¿šøào ‹k[>¡

(B) ³Òàšøào ‹k[>

(C) ">å>à[ÎA¡ ¤à >à[ÎA¡¸ ‹k[>

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-15. >ãìW¡¹ Å¦P¡[º ë=ìA¡ ë™àK¹ê¡Øn¡ Å¦ [W¡[Òû¡t¡
A¡ì¹à

(A) Îì–ƒÅ

(B) Ò[¹o

(C) šãt¡à´¬¹

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-16. &A¡A¡=àÚ šøA¡àÅ A¡ì¹à :

‘[A¡áå ƒà> A¡ì¹ ë™ "à¤à¹
ëó¡¹t¡ ë>Ú’

(A) Aå¡Îãƒ\ã¤ã

(B) ƒv¡àšÒà¹ã

(C) ÒàØl¡ìA¡Ù>

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-17. [>³—šøƒv¡ Å¦P¡[º ëA¡à>ô ëƒÅãÚ Å¦?

ë¤àt¡à³ ; W¡à[¤ ; ët¡àÚàìº ; "àºA¡àt¡¹à ;
"àº³à[¹ ; [³[Ñ|

(A) tå¡[A¢¡

(B) ó¡à¹[Î

(C) ëšàtå¢¡Kã\

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú



B-18. ‘\ìº =àìA¡ ³àá’—ëA¡à>ô A¡à¹ìA¡ ëA¡à>ô
[¤®¡[v¡û¡?

(A) "šàƒà> A¡à¹ìA¡ Åè>¸ [¤®¡[v¡û¡

(B) "[‹A¡¹o A¡à¹ìA¡ ‘&’ [¤®¡[v¡û¡

(C) A¡t¢õ¡A¡à¹ìA¡ ‘&’ [¤®¡[v¡û¡

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-19. l¡üš-šè¤¢A¡ – >ã + "> (">ôi¡¡)- &¹ ‡à¹à
>ãìW¡¹ ëA¡à>ô Å¦[i¡ [>ÍšÄ Òì¤?

(A) l¡üš³à>

(B) l¡üš>Ú>

(C) l¡üš>ãt¡

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-20. A¡àº [>o¢Ú A¡ì¹à :

‘"ì>ìA¡¹ ³åìJÒü K¿i¡à Ç¡ì>[á¡ú’

(A) '[t¡Òà[ÎA¡ ¤t¢¡³à>

(B) Qi¡³à> "t¡ãt¡

(C) šå¹àQ[i¡t¡ ¤t¢¡³à>

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-21. ‘t¡; + A¡¹’ Î[Þê¡™åv¡û¡ Å¦[i¡ [W¡[Òû¡t¡
A¡ì¹à :

(A) t¡Û¡A¡

(B) i¡B¡¹

(C) t¡ÑH¹

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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B-22. Ç¡‡ý¡ ¤à>à>[i¡ [W¡[Òû¡t¡ A¡ì¹à :

(A) Ò[¹t¡[A¡

(B) Ò[¹t¡A¡ã

(C) Ò¹ãt¡A¡ã

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-23. [¤[ÅÊ¡à=¢A¡ šøìÚàìK ‘"à³Øl¡àKà[á’ Åì¦¹
"=¢ Òº

(A) "A¡³¢o¸

(B) "à³Øl¡àP¡Zá

(C) ët¡àÈàì³àƒ

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-24. [ºU š[¹¤t¢¡> A¡ì¹à :

‘¹\A¡’

(A) ¹\A¡ã

(B) ¹\[A¡>ã

(C) ¹R¡ì¹[\>ã

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-25. ó¡ºàÒà¹ > ó¡ºà¹—‹k[> š[¤t¢¡ì>¹ ëA¡à>ô
[>Úì³ ÒìÚìá?¡

(A) ¤o¢[¤š™¢Ú

(B) Ñ¬¹ìºàš

(C) ¤o¢ìºàš

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú



B-26. ë³à³ ‡à¹à šøÑñt¡ ¤à[t¡ > ë³à³¤à[t¡—ëA¡à>ô
Î³àìÎ¹ l¡üƒàÒ¹o?

(A) ³‹¸šƒìºàšã A¡³¢‹à¹Ú

(B) ¹ê¡šA¡ A¡³¢‹à¹Ú

(C) l¡üš³à> A¡³¢‹à¹Ú

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-27. ‘Å¤¹ã’ Åì¦¹ "=¢ Òº

(A) ¹à[y

(B) ë¤ìƒ>ã

(C) ¤¸à[‹>ã

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-28. ®¡à¤à=¢ Òº ³èº šàìk¡¹

(A) ³³¢à=¢

(B) Î´ßÎà¹o

(C) Î}ìA¡àW¡>

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-29. ë™ ¤¸g>¤o¢ Ñ¬¹¤ìo¢¹ ³ìt¡à l¡üZW¡à[¹t¡ ÒÚ
t¡àìA¡ ¤ìº

(A) "‹¢Ñ¬¹

(B) ë™ï[KA¡ Ñ¬¹

(C) šÃåt¡ Ñ¬¹

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

B-30. l¡üZW¡à¹ìo¹ Îå[¤‹à¹ \>¸ ™J> šè¤¢¤t¢¡ã ‹k[>
š¹¤t¢¡ã ‹k[>ìA¡ ¹ê¡šà”z[¹t¡ A¡ì¹, t¡J>
t¡àìA¡ ¤ìº

(A) šøKt¡ Î³ã®¡¤>

(B) š¹àKt¡ Î³ã®¡¤>

(C) "ì>¸à>¸ Î³ã®¡¤>

(D) l¡üšì¹àv¡û¡P¡[º¹ ³ì‹¸ &ìA¡¹ ë=ìA¡
"[‹A¡

(E) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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PART—II

( GENERAL STUDIES )

31. The difference of 1
3

16
and its

reciprocal is equal to

(A)
4

3

(B)
15

16

(C)
105

304

(D) More than one of the above

(E) None of the above

32. If
a

b

b

a

x x
æ
èç

ö
ø÷

= æ
èç

ö
ø÷

- -1 3

, then the

value of x is

(A) 1

(B) 2

(C)
7

2

(D) More than one of the above

(E) None of the above

33. A fruit seller had some apples.

He sells 40% apples and still

has 420 apples. Originally, he

had

(A) 700 apples

(B) 588 apples

(C) 672 apples

(D) More than one of the above

(E) None of the above

34. A fraction which bears the same

ratio to
1

27
that

3

11
does to

5

9
, is

equal to

(A)
1

11

(B) 55

(C)
1

55

(D) More than one of the above

(E) None of the above

35. If the annual rate of simple

interest increases from 10% to

12
1

2
%, a man’s yearly income

increases by R1,250. His

principal (in R ) is

(A) 45,000

(B) 50,000

(C) 65,000

(D) More than one of the above

(E) None of the above

36. The perimeter of a circle is equal

to the perimeter of a square,

then their areas are in the ratio

(A) 4 : 1

(B) 11 : 7

(C) 14 : 11

(D) More than one of the above

(E) None of the above

37. What is the volume of a cube

(in cubic cm) whose diagonal

measures 4 3 cm?

(A) 8

(B) 64

(C) 16

(D) More than one of the above

(E) None of the above

21/PV/M–2023–01/S6 (P)/301-A 16
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PART—II

( GENERAL STUDIES )

31. 1
3

16
Am°a CgHo$ Ï`wÀH´$_ H$m A›Va ~am~a h°

(A)
4

3

(B)
15

16

(C)
105

304

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

32. `{X

a

b

b

a

x x
æ
èç

ö
ø÷

= æ
èç

ö
ø÷

- -1 3

Vmo x H$m _mZ h°

(A) 1

(B) 2

(C)
7

2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

33. EH$ \$b {dH´o$Vm Ho$ nmg Hw$N> go~ Woü& dh
40% go~ ~oMVm h° Am°a CgHo$ nmg A^r ^r
420 go~ h°ßü& _ybVÖ CgHo$ nmg Wo

(A) 700 go~

(B) 588 go~

(C) 672 go~

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

34. EH$ {^fi, {OgH$m
1

27
go dhr AZwnmV h°, Omo

3

11
H$m

5

9
go h°, dh ~am~a h°

(A)
1

11

(B) 55

(C)
1

55

(D) Cn`w©∫$ _| go EH$ go A{YH$
(E) Cn`w©∫$ _| go H$moB© Zht

35. `{X gmYmaU „`mO H$s dm{f©H$ Xa 10% go

~ãT>H$a 12
1

2
% hmo OmVr h°, Vmo EH$ AmX_r

H$s dm{f©H$ Am` R1,250 ~ãT> OmVr h°ü&
CgH$m _ybYZ (R _|) h°
(A) 45,000

(B) 50,000

(C) 65,000

(D) Cn`w©∫$ _| go EH$ go A{YH$
(E) Cn`w©∫$ _| go H$moB© Zht

36. EH$ d•Œm H$s n[a{Y, EH$ dJ© H$s n[a{Y Ho$
~am~a h°ü& CZHo$ joÃ\$bm| H$m AZwnmV hmoJm
(A) 4 : 1

(B) 11 : 7

(C) 14 : 11

(D) Cn`w©∫$ _| go EH$ go A{YH$
(E) Cn`w©∫$ _| go H$moB© Zht

37. EH$ KZ H$m Am`VZ (KZ go0 _r0 _|) {H$VZm

h°, {OgH$m {dH$U© 4 3 go0 _r0 h°?
(A) 8

(B) 64

(C) 16

(D) Cn`w©∫$ _| go EH$ go A{YH$
(E) Cn`w©∫$ _| go H$moB© Zht



38. One of the factors of

( ) ( )x x3 1 1+ - - is

(A) x 2 1+
(B) x 2 1-
(C) x -1

(D) More than one of the above

(E) None of the above

39. The root of the equation

x 2 4 0- = is

(A) 2

(B) -2

(C) 4

(D) More than one of the above

(E) None of the above

40. If 3 5x y+ = and x y- = 3, then

(A) x = 2, y = -1

(B) x = -2, y = -1

(C) x = -2, y = 1

(D) More than one of the above

(E) None of the above

41. Which one of the following

cannot be the square of a

natural number?

(A) 32761

(B) 81225

(C) 42437

(D) More than one of the above

(E) None of the above

42. If 1 5 0 04× = ×x y, then the value of

y x

y x

-
+

æ
è
ç

ö
ø
÷ is

(A)
730

77

(B)
73

77

(C)
71

77

(D) More than one of the above

(E) None of the above

43.
0 204 42

0 07 3 4

× ´
× ´ ×

is equal to

(A) 0·06

(B) 0·6

(C) 6

(D) More than one of the above

(E) None of the above

44. If x% of y is 100 and y% of z is

200, then find the relation

between x and z.

(A) z
x

=
2

(B) z x= 2

(C) z x= 4

(D) More than one of the above

(E) None of the above

45. The height of an equilateral

triangle is 10 cm. Its area is

(A) 30 cm2

(B) 100

3
cm2

(C) 100

3
cm2

(D) More than one of the above

(E) None of the above

46. Which of the following is a

monomial?

(A) 4 2x

(B) a+ 6

(C) a c+ +6

(D) More than one of the above

(E) None of the above
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38. ( ) ( )x x3 1 1+ - - Ho$ JwUZI�S>m| _| go EH$ h°

(A) x 2 1+
(B) x 2 1-
(C) x -1

(D) Cn`w©∫$ _| go EH$ go A{YH$
(E) Cn`w©∫$ _| go H$moB© Zht

39. g_rH$aU x 2 4 0- = H$m _yb h°
(A) 2

(B) -2

(C) 4

(D) Cn`w©∫$ _| go EH$ go A{YH$
(E) Cn`w©∫$ _| go H$moB© Zht

40. `{X 3 5x y+ = Am°a x y- = 3, Vmo
(A) x = 2, y = -1

(B) x = -2, y = -1

(C) x = -2, y = 1

(D) Cn`w©∫$ _| go EH$ go A{YH$
(E) Cn`w©∫$ _| go H$moB© Zht

41. {ZÂZ{b{IV _| go H$m°Z-gm EH$ ‡mH•${VH$
gßª`m H$m dJ© Zht hmo gH$Vm h°?
(A) 32761

(B) 81225

(C) 42437

(D) Cn`w©∫$ _| go EH$ go A{YH$
(E) Cn`w©∫$ _| go H$moB© Zht

42. `{X 1 5 0 04× = ×x y h°, Vmo
y x

y x

-
+

æ
è
ç

ö
ø
÷ H$m

_mZ h°

(A)
730

77

(B)
73

77

(C)
71

77

(D) Cn`w©∫$ _| go EH$ go A{YH$
(E) Cn`w©∫$ _| go H$moB© Zht

43.
0 204 42

0 07 3 4

× ´
× ´ ×

~am~a h°

(A) 0·06

(B) 0·6

(C) 6

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

44. `{X y H$m x% 100 h° Am°a z H$m
y% 200 h°, Vmo x Am°a z Ho$ ~rM gÂ~›Y
kmV H$s{OEü&

(A) z
x

=
2

(B) z x= 2

(C) z x= 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

45. EH$ g_~mh˛ {Ã^wO H$s D±$MmB© 10 go0 _r0
h°ü& BgH$m joÃ\$b h°

(A) 30 dJ© go0 _r0

(B) 100

3
dJ© go0 _r0

(C) 100

3
dJ© go0 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

46. {ZÂZ{b{IV _| go H$m°Z-gm EH$nX h°?

(A) 4 2x

(B) a+ 6

(C) a c+ +6

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



47. Which of the following is used in

metal extraction?

(A) Coke

(B) Petroleum

(C) Coal tar

(D) More than one of the above

(E) None of the above

48. The colored light that refracts

most while passing through a

prism is

(A) yellow

(B) violet

(C) blue

(D) More than one of the above

(E) None of the above

49. The resistance of a conductor is

directly proportional to its

(A) area of cross-section

(B) density

(C) length

(D) More than one of the above

(E) None of the above

50. What is the main chemical

component present on the

rubbing surface of a matchbox?

(A) Potassium chlorate

(B) Phosphorous

(C) Graphite

(D) More than one of the above

(E) None of the above

51. Which of the following is

suitable for alcoholic beverages?

(A) Methanol

(B) Hexenol

(C) Ethanol

(D) More than one of the above

(E) None of the above

52. The efficiency of a fuel is

expressed in terms of its

(A) density

(B) calorific value

(C) volume

(D) More than one of the above

(E) None of the above

53. Food cans are coated with tin

and not with zinc because

(A) zinc is costlier than tin

(B) zinc has a higher melting

point than tin

(C) zinc is more reactive than

tin

(D) More than one of the above

(E) None of the above
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47. YmVw {ZÓH$f©U _oß {ZÂZ{b{IV _| go {H$gH$m
Cn`moJ {H$`m OmVm h°?

(A) H$moH$

(B) noQ¥>mo{b`_

(C) H$mob Q>ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

48. {‡µµ¡_ go JwOaZo na g~go A{YH$ And{V©V
hmoZo dmbm aßJrZ ‡H$me h°

(A) nrbm

(B) ~¢JZr

(C) Zrbm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

49. {H$gr MmbH$ H$m ‡{VamoY g_mZwnmVr hmoVm h°

(A) CgHo$ AZw‡ÒW-H$mQ> Ho$ joÃ Ho$

(B) CgHo$ KZÀd Ho$

(C) CgH$s bß~mB© Ho$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

50. _m{Mg H$s {S>„~r _| aJãS>Zo dmbr gVh na
_m°OyX _wª` amgm`{ZH$ KQ>H$ ä`m h°?

(A) nmoQ>°{e`_ äbmoaoQ>

(B) \$mÒ\$moag

(C) Jo´\$mBQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

51. {ZÂZ{b{IV _| go H$m°Z-gm EoÎH$mohm∞b no` Ho$
{bE Cn`w∫$ h°?

(A) _oWZm∞b

(B) hoägoZm∞b

(C) EWoZm∞b

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

52. {H$gr B™YZ H$s XjVm _____ Ho$ gßX^© _|
Ï`∫$ H$s OmVr h°ü&

(A) CgHo$ KZÀd

(B) CgHo$ H°$bmoar _mZ

(C) CgH$s _mÃm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

53. ImZo Ho$ {S>„~m| na OÒVm Ho$ ~Om` {Q>Z H$s
naV MãT>r hmoVr h°, ä`m|{H$

(A) OÒVm, {Q>Z H$s VwbZm _| _h±Jm h°

(B) {Q>Z H$s VwbZm _| OÒVm H$m JbZmßH$
A{YH$ hmoVm h°

(C) {Q>Z H$s VwbZm _oß OÒVm A{YH$
‡{V{H´$`merb h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



54. Which of the following is not a

traditional irrigation method?

(A) Moat system

(B) Chain pump system

(C) Drip system

(D) More than one of the above

(E) None of the above

55. The number of sex chromosomes

in a human kidney cell is

(A) one pair

(B) two pairs

(C) three pairs

(D) More than one of the above

(E) None of the above

56. The hearing range of human ear

is

(A) 20 Hz to 20000 Hz

(B) less than 20 Hz

(C) more than 20000 Hz

(D) More than one of the above

(E) None of the above

57. Which of the following has the

highest energy?

(A) Blue light

(B) Red light

(C) Yellow light

(D) More than one of the above

(E) None of the above

58. Which substance is used for

making pencil lead?

(A) Sulphur

(B) Silicon

(C) Graphite

(D) More than one of the above

(E) None of the above

59. A ray of light is incident at an

angle of 30° on a mirror, the

angle between normal and

reflected ray is

(A) 30°

(B) 60°

(C) 45°

(D) More than one of the above

(E) None of the above

60. The contraction and expansion

movement of the walls of the

food pipe is called

(A) translocation

(B) transpiration

(C) peristaltic movement

(D) More than one of the above

(E) None of the above

61. Which parts of the brain control

blood pressure?

(A) Spinal cord, skull,

hypothalamus

(B) Cord, skull, cerebrum

(C) Pons, medulla, cerebellum

(D) More than one of the above

(E) None of the above

62. Which of the following produces

least friction?

(A) Sliding friction

(B) Rolling friction

(C) Static friction

(D) More than one of the above

(E) None of the above
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54. {ZÂZ{b{IV _| go H$m°Z-gr nmaßn[aH$ {gßMmB©
n’{V Zht h°?

(A) IßXH$ ‡Umbr

(B) MoZ nßn ‡Umbr

(C) {S¥>n ‡Umbr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

55. _mZd JwX} H$s H$mo{eH$m _| qbJ JwUgyÃm| H$s
gßª`m hmoVr h°

(A) EH$ OmoãSm

(B) Xmo OmoãSo

(C) VrZ OmoãS>o

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

56. _mZd H$mZ H$m ldU namg ä`m h°?

(A) 20 hQ≤>O© go 20000 hQ≤>O©

(B) 20 hQ≤>O© go H$_

(C) 20000 hQ≤>O© go A{YH$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

57. {ZÂZ{b{IV _| go {H$g_| CÉV_ D$Om© hmoVr
h°?

(A) Zrbm ‡H$me

(B) bmb ‡H$me

(C) nrbm ‡H$me

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

58. n|{gb boS>> ~ZmZo Ho$ {bE {H$g nXmW© H$m
Cn`moJ {H$`m OmVm h°?

(A) gÎ\$a

(B) {g{bH$m∞Z

(C) J´o\$mBQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

59. ‡H$me H$s EH$ {H$aU Xn©U na 30° Ho$ H$moU
na Amn{VV hmoVr h°ü& A{^bß~ Am°a namd{V©V
{H$aU Ho$ ~rM H$m H$moU hmoVm h°

(A) 30°

(B) 60°

(C) 45°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

60. Amhma Zbr H$s Xrdmam| Ho$ gßHw$MZ Am°a {dÒVma
H$s J{V H$hbmVr h°

(A) ÒWmZm›VaU

(B) dmÓnmoÀgO©Z

(C) H´$_mHßw$MZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

61. _pÒVÓH$ Ho$ H$m°Z-go ^mJ a∫$Mmn H$mo {Z`ß{ÃV
H$aVo h°ß?

(A) arãT> H$s hS≤>S>r, ImonãS>r, hmBnmoW°bo_g

(B) H$m∞S>©, ImonãS>r, goao~´_

(C) nm|g, _oSw>bm, go[a~ob_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

62. {ZÂZ{b{IV _| go H$m°Z-gm g~go H$_ Kf©U
CÀnfi H$aVm h°?

(A) {\$gbZ Kf©U

(B) amoqbJ Kf©U

(C) ÒW°{VH$ Kf©U

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



63. The Chairman of NABARD is

(A) K. Sitaraman

(B) Bhavesh Gupta

(C) Shaji K. V.

(D) More than one of the above

(E) None of the above

64. The Chairperson of ONGC is

(A) Dr. Alka Mittal

(B) Dr. Madhuri Mittal

(C) Dr. Madhuri Gil

(D) More than one of the above

(E) None of the above

65. The Prime Minister of Italy is

(A) Giorgia Masquani

(B) Georgia Meloni

(C) Genolia Melony

(D) More than one of the above

(E) None of the above

66. As per 5th Tiger Census in

2022, the number of tigers in

India is

(A) 3167

(B) 3267

(C) 3067

(D) More than one of the above

(E) None of the above

67. Biparjoy, a phenomena of 2022,

was

(A) mid-latitude cyclone

(B) sea storm

(C) tropical cyclone

(D) More than one of the above

(E) None of the above

68. The new name of Mid-Day Meal

Scheme is

(A) PM Poshan Scheme

(B) PM Mid-Day Poshan

Scheme

(C) National Poshan Scheme

(D) More than one of the above

(E) None of the above

69. The organizing place of Thawe

Mahotsav, 2023 was

(A) Bhagalpur (Bihar)

(B) Munger (Bihar)

(C) Patna (Bihar)

(D) More than one of the above

(E) None of the above

70. State Icon of Bihar is

(A) Pallavi Thakur

(B) Maithili Mishra

(C) Maithili Thakur

(D) More than one of the above

(E) None of the above
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63. Zm~mS>© Ho$ A‹`j h¢

(A) Ho$0 grVma_Z

(B) ^doe Jw·m

(C) emOr Ho$0 dr0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

64. Amo0 EZ0 Or0 gr0 H$s A‹`j h¢

(A) S>m∞0 AÎH$m {_Œmb

(B) S>m∞0 _mYwar {_Œmb

(C) S>m∞0 _mYwar {Jb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

65. BQ>br H$s ‡YmZ_ßÃr h¢

(A) Om∞{O©`m _oÒä`mZr

(B) Om∞{O©`m _obmoZr

(C) OoZmo{b`m _obmoZr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

66. 5dt ~mK JUZm [anmoQ>©, 2022 Ho$ AZwgma
^maV _| ~mKm| H$s gßª`m h°

(A) 3167

(B) 3267

(C) 3067

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

67. 2022 H$s KQ>Zm "{~naOm∞`' Wm

(A) _‹`-Ajmßer` MH´$dmV

(B) g_w–r Vy\$mZ

(C) CÓUH${Q>~›Yr` MH´$dmV

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

68. _‹`mï ^moOZ `moOZm H$m Z`m Zm_ h°

(A) nr0 E_0 nmofU `moOZm

(B) nr0 E_0 _‹`mï nmofU `moOZm

(C) Z°eZb nmofU `moOZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

69. Wmdo _hmoÀgd, 2023 H$m Am`moOZ ÒWb h°

(A) ^mJbnwa ({~hma)

(B) _wßJoa ({~hma)

(C) nQ>Zm ({~hma)

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

70. {~hma gaH$ma H$s ÒQ>oQ> AmBH$m∞Z h¢

(A) nÑdr R>mHw$a

(B) _°{Wbr {_lm

(C) _°{Wbr R>mHw$a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



71. The total budget of Jal Jeevan

Mission is

(A) R 70,000 crore

(B) R 72,000 crore

(C) R 75,000 crore

(D) More than one of the above

(E) None of the above

72. The name of the Cluster-

oriented Rural Development

Scheme is

(A) Deendayal Upadhyaya

Rurban Mission

(B) Dr. Shyama Prasad

Mukherjee Rurban Mission

(C) Atal Bihari Vajpayee

Rurban Mission

(D) More than one of the above

(E) None of the above

73. The author of the book, The

Chipko Movement : A People’s

History is

(A) Shekhar Pathak

(B) Shekhar Joshi

(C) Shekhar Pandey

(D) More than one of the above

(E) None of the above

74. The World Brail Lipi Day is

celebrated on

(A) 9 January

(B) 8 January

(C) 4 January

(D) More than one of the above

(E) None of the above

75. The true fact about Bharat

Gaurav Tourist Train is that

(A) it was inaugurated on

16th April, 2023

(B) it was started from New

Delhi Railway Station

(C) it was inaugurated on

25th December, 2022

(D) More than one of the above

(E) None of the above

76. First State of India that started

keeping DNA database of

unidentified dead bodies is

(A) Himachal Pradesh

(B) Goa

(C) Madhya Pradesh

(D) More than one of the above

(E) None of the above

77. The host nation of ASEAN

Summit, 2023 is

(A) Malaysia

(B) Thailand

(C) Indonesia

(D) More than one of the above

(E) None of the above

78. The host nation of Petersburg

Climate Dialogue, 10 May, 2023

is

(A) Poland

(B) Germany

(C) Italy

(D) More than one of the above

(E) None of the above
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71. Ob OrdZ {_eZ H$s gH$b ~OQ> am{e h°

(A) R 70,000 H$amoãS>

(B) R 72,000 H$amoãS>

(C) R 75,000 H$amoãS>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

72. äbÒQ>a-AmYm[aV Jm±dm| Ho$ {dH$mg H$s `moOZm
H$m Zm_ h°

(A) XrZX`mb Cnm‹`m` È~©Z {_eZ

(B) S>m∞0 Ì`m_m ‡gmX _wIOu È~©Z {_eZ

(C) AQ>b {~hmar dmOno`r È~©Z {_eZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

73. X {MnH$mo _yd_|Q> : E nrnwÎg {hÒQ¥>r Zm_H$
nwÒVH$ Ho$ boIH$ h¢

(A) eoIa nmR>H$

(B) eoIa Omoer

(C) eoIa nm�S>o

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

74. {dÌd ~´ob {b{n {Xdg H$~ _Zm`m OmVm h°?

(A) 9 OZdar

(B) 8 OZdar

(C) 4 OZdar

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

75. ^maV Jm°ad n`©Q>H$ aobJmãS>r Ho$ gÂ~›Y _|
H$m°Z-gm Vœ` ghr h°?

(A) BgH$m 16 A‡°b, 2023 H$mo eŵ maÂ^

(B) BgH$s ZB© {XÑr aobdo ÒQ>oeZ go ewÈAmV

(C) BgH$m 25 {XgÂ~a, 2022 H$mo
eŵ maÂ^

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

76. AkmV edm| Ho$ S>r0 EZ0 E0 H$m S>mQ>m~og
aIZo dmbm ^maV H$m ‡W_ am¡` h°

(A) {h_mMb ‡Xoe

(B) Jmodm

(C) _‹` ‡Xoe

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

77. Am{g`mZ, 2023 Ho$ {eIa gÂ_obZ H$m
Am`moOH$ Xoe h°

(A) _bo{e`m

(B) WmB©b°�S>

(C) BßS>moZo{e`m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

78. 10 _B©, 2023 H$mo nrQ>g©~J© äbmB_oQ>
S>m`bm∞J gÂ_obZ H$s _oO~mZr H$aZo dmbm Xoe
h°

(A) nmob°�S>

(B) O_©Zr

(C) BQ>br

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



79. The Sun is a

(A) yellow star

(B) red star

(C) white star

(D) More than one of the above

(E) None of the above

80. How many latitudes are there on

the globe drawn at 1 degree

interval?

(A) 179

(B) 180

(C) 181

(D) More than one of the above

(E) None of the above

81. The average height of Kosi plain

from mean sea level is

(A) 300 m

(B) 150 m

(C) 30 m

(D) More than one of the above

(E) None of the above

82. On the basis of fossils, which is

the origin place of man?

(A) Rift Valley of Africa

(B) Central Asia

(C) Jerusalem

(D) More than one of the above

(E) None of the above

83. Cultural contact between two

communities is called

(A) enculturation

(B) acculturation

(C) cultural realm

(D) More than one of the above

(E) None of the above

84. Barauni Oil Refinery Plant is

situated in which district of

Bihar?

(A) Saharsa

(B) Begusarai

(C) Madhubani

(D) More than one of the above

(E) None of the above
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79. gy`© h° EH$

(A) nrbm Vmam

(B) bmb Vmam

(C) ÌdoV Vmam

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

80. Ωbmo~ na 1 {S>J´r Ho$ A›Vamb na ItMr
Ajmße aoImE± {H$VZr h°ß?

(A) 179

(B) 180

(C) 181

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

81. H$mogr _°XmZ H$s g_w– Vb go Am°gV D±$MmB© h°

(A) 300 _r0

(B) 150 _r0

(C) 30 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

82. OrdmÌ_m| Ho$ AmYma na, _mZd H$m CÀn{Œm Ho$›–
h°

(A) A\´$sH$m H$s [a‚Q> KmQ>r

(B) _‹` E{e`m

(C) OoÍ$gb_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

83. Xmo g_wXm`m| Ho$ _‹` gßmÒH•${VH$ gÂnH©$
H$hbmVm h°

(A) EZ≤H$ÎMaoeZ

(B) EH$ÎMaoeZ

(C) H$ÎMab aoÎ_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

84. ~am°Zr VobemoYH$ gß`ßÃ {~hma Ho$ {H$g {Obo _|
{ÒWV h°?

(A) ghagm

(B) ~oJygam`

(C) _Yw~Zr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



85. Tehri Dam Project is associated

with

(A) determinism

(B) possibilism

(C) scientific determinism

(D) More than one of the above

(E) None of the above

86. Which of the following is shifting

cultivation in Orissa?

(A) Podu

(B) Penda

(C) Bewar

(D) More than one of the above

(E) None of the above

87. Tent of nomads in Baluchistan

is called

(A) Kizashi

(B) Klong

(C) Kloof

(D) More than one of the above

(E) None of the above

88. In which district of Bihar silk

textile production is maximum?

(A) Madhubani

(B) Bhagalpur

(C) Aurangabad

(D) More than one of the above

(E) None of the above

89. With decreasing population, the

man-land ratio

(A) decreases

(B) increases

(C) remains constant

(D) More than one of the above

(E) None of the above

90. In which district of Bihar, Maize

crop production is maximum?

(A) Saran

(B) Siwan

(C) Muzaffarpur

(D) More than one of the above

(E) None of the above
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85. Q>ohar ~m±Y n[a`moOZm gß~ß{YV h°

(A) {Z`{VdmXr {dMmaYmam go

(B) gÂ^ddmXr {dMmaYmam go

(C) d°km{ZH$ {Z`{VdmXr {dMmaYmam go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

86. {ZÂZ{b{IV _| go H$m°Z-gr CãS>rgm H$s
ÒWmZm›VaUerb H•${f h°?

(A) nmoSy

(B) no›S>>m

(C) ~odma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

87. ~bw{MÒVmZ _| Mbdmgr H$m VÂ~y H$hbmVm h°

(A) {H$Oer

(B) äbmßJ

(C) äby\$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

88. {~hma Ho$ {H$g {Obo _| aoe_r dÛ H$m CÀnmXZ
gdm©{YH$ hmoVm h°?

(A) _Yw~Zr

(B) ^mJbnwa

(C) Am°aßJm~mX

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

89. OZgßª`m K>Q>Zo go, _mZd-^y{_ AZwnmV

(A) KQ>Vm h°

(B) ~ãT>Vm h°

(C) pÒWa ahVm h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

90. {~hma Ho$ {H$g {Obo _| _∏$m H$m CÀnmXZ
gdm©{YH$ hmoVm h°>?

(A) gmaU

(B) {gdmZ

(C) _wO‚\$anwa

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



91. Where was Kunwar Singh, a

leader of the Revolt of 1857,

related to?

(A) Gwalior

(B) Meerut

(C) Jagdishpur

(D) More than one of the above

(E) None of the above

92. Who established the Indian

Association in 1876?

(A) W. C. Bonnerjee

(B) Sisir Kumar Ghosh

(C) Surendranath Banerjee

(D) More than one of the above

(E) None of the above

93. Who first raised the National

Flag outside India?

(A) Lala Lajpat Rai

(B) Madam Bhikaji Cama

(C) Rash Behari Bose

(D) More than one of the above

(E) None of the above

94. Which paper was edited by Abul

Kalam Azad?

(A) Zamindar

(B) Comrade

(C) Al-Hilal

(D) More than one of the above

(E) None of the above

95. Who was the author of Mahatma

Gandhi and Bihar—Some

Reminiscences ?

(A) Dr. Rajendra Prasad

(B) Jayaprakash Narayan

(C) Karpoori Thakur

(D) More than one of the above

(E) None of the above

96. Who presided over the first

Session of the All India Kisan

Sabha?

(A) Narendra Dev

(B) Sahajanand Saraswati

(C) Sampurnanand

(D) More than one of the above

(E) None of the above
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91. 1857 Ho$ {d–moh Ho$ ZoVm Hw±$da qgh {H$g
ÒWmZ go gß~ß{YV Wo?

(A) Ωdm{b`a

(B) _oaR>

(C) OJXrenwa

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

92. B©. gß. 1876 _| Bß{S>`Z Egmo{gEeZ H$s
ÒWmnZm {H$gZo H$s Wr?

(A) S>„Î`y0 gr0 ~ZOu

(B) {e{ea Hw$_ma Kmof

(C) gwao›–ZmW ~ZOu

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

93. {dXoe _oß ^maVr` amÔ¥>r` ‹dO ‡W_ ~ma {H$gZo
\$ham`m?

(A) bmbm bmOnV am`

(B) _°S>_ ^rH$mOr H$m_m

(C) amg{~hmar ~mog

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

94. A~wb H$bm_ AmµOmX Ho$ ¤mam {H$g n{ÃH$m H$mo
gßnm{XV {H$`m J`m Wm?

(A) O_tXma

(B) H$m∞_aoS>

(C) Ab-{hbmb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

95. _hmÀ_m Jm±Yr E|S> {~hma—g_ ao{_{Zgo›gog Ho$
boIH$ H$m°Z Wo?

(A) S>m∞0 amOo›– ‡gmX

(B) O`‡H$me Zmam`U

(C) H$ny©ar R>mHw$a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

96. Am∞b Bß{S>`m {H$gmZ g^m Ho$ nhbo A{YdoeZ
_| H$m°Z A‹`j Wo?

(A) Zao›– Xod

(B) ghOmZ›X gaÒdVr

(C) gÂnyUm©Z›X

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



97. When was the Patna Women’s

College founded?

(A) 1938

(B) 1940

(C) 1941

(D) More than one of the above

(E) None of the above

98. Which portfolio did Dr. Rajendra

Prasad hold in the interim

government?

(A) Finance

(B) Defence

(C) Food and Agriculture

(D) More than one of the above

(E) None of the above

99. In which year All India Women’s

Conference was founded?

(A) 1923

(B) 1925

(C) 1927

(D) More than one of the above

(E) None of the above

100. The day of Bengal

Partition—16th October, 1905

was observed as the day of

(A) Boycott

(B) Hartal (strike)

(C) Shok (mourn)

(D) More than one of the above

(E) None of the above

101. During which movement ‘Bihar

Vidyapeeth’ was established?

(A) Swadeshi Movement

(B) Non-Cooperation Movement

(C) Civil Disobedience

Movement

(D) More than one of the above

(E) None of the above

102. Who invited Mahatma Gandhi to

come to Champaran in 1917?

(A) Raj Kumar Shukla

(B) J. B. Kripalani

(C) Dr. Rajendra Prasad

(D) More than one of the above

(E) None of the above
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97. nQ>Zm _{hbm _hm{d⁄mb` H$~ ÒWm{nV h˛Am?

(A) 1938

(B) 1940

(C) 1941

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

98. A›V[a_ gaH$ma _oß S>m∞0 amOo›– ‡gmX Ho$ nmg
H$m°°Z-gm {d^mJ Wm?

(A) {dŒm

(B) ajm

(C) Im⁄ Edß H•${f

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

99. {H$g df© Am∞b Bß{S>`m dy_|g H$›\$a|g H$s
ÒWmnZm H$s JB©?

(A) 1923

(B) 1925

(C) 1927

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

100. ~ßJmb {d^mOZ 16 A∫y$~a, 1905 H$mo {H$g
{Xdg Ho$ Í$n _| _Zm`m J`m Wm?

(A) ~m∞`H$mQ>

(B) hãS>Vmb

(C) emoH$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

101. {H$g Am›XmobZ Ho$ Xm°amZ "{~hma {d⁄mnrR>' H$s
ÒWmnZm H$s JB©?

(A) ÒdXoer Am›XmobZ

(B) Agh`moJ Am›XmobZ

(C) g{dZ` Adkm Am›XmobZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

102. 1917 _| MÂnmaU AmZo H$m {Z_ßÃU _hmÀ_m
Jm±Yr H$mo {H$gZo {X`m Wm?

(A) amOHw$_ma ewäbm

(B) Oo0 ~r0 H•$nbmZr

(C) S>m∞0 amOo›– ‡gmX

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



103. The book named The Wheels of

History was written by whom?

(A) Lokmanya Bal Gangadhar

Tilak

(B) Ram Manohar Lohia

(C) Jayaprakash Narayan

(D) More than one of the above

(E) None of the above

104. Which of the following is correct

about he attitude of Muslim

League in relation to the

independence of India?

(A) It rejected the proposals of

Cripps Mission in 1942 on

the ground that their

demand of Pakistan was not

accepted.

(B) It rejected Wavell Plan in

1945 as it might weaken

their claim for independent

Pakistan.

(C) It rejected Cabinet Mission

proposals and took resort to

direct action in 1946.

(D) More than one of the above

(E) None of the above

105. Which of the following is correct

about the Fundamental Rights

in India?

(A) They are the unique

declaration of balance

between the Constitutional

supremacy and the

authority of Legislature.

(B) They create a balance

between the rights of people

and the security of nation.

(C) They not only decide the

political and legal equality,

but the social equality also.

(D) More than one of the above

(E) None of the above

106. With respect to the conviction of

offence in India, which of the

following statements is correct?

(A) The provision of double

jeopardy is not found in the

Constitution of India.

(B) The protection from penalty

greater than the offence is

found in the Constitution.

(C) The judicial and the

departmental actions may

be taken against a

government servant for the

same offence in the country.

(D) More than one of the above

(E) None of the above
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103. X drÎg Am∞\$ {hÒQ¥>r (B{Vhmg Ho$ n{hE)
Zm_H$ nwÒVH$ {H$gHo$ ¤mam a{MV Wr?

(A) bmoH$_m›` ~mb JßJmYa {VbH$

(B) am_ _Zmoha bmo{h`m

(C) O`‡H$me Zmam`U

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

104. {ZÂZ{b{IV _| go ^maV H$s ÒdVßÃVm Ho$ ‡{V
_wpÒb_ brJ Ho$ —{Ô>H$moU Ho$ ~mao _| H$m°Z-gm
ghr h°?

(A) BgZo {H´$flg {_eZ, 1942 H$m ‡ÒVmd
Bg AmYma na AÒdrH$ma {H$`m {H$
CZH$s nm{H$ÒVmZ H$s _m±J H$mo ÒdrH$ma
Zht {H$`m J`m Wmü&

(B) BgZo dodb `moOZm, 1945 H$mo
AÒdrH•$V {H$`m ä`m|{H$ CZH$s ÒdVßÃ
nm{H$ÒVmZ H$s _m±J H$mo `h H$_Omoa H$a
gH$Vr Wrü&

(C) BgZo H°${~ZoQ> {_eZ ‡ÒVmdm| H$mo
AÒdrH$ma {H$`m Am°a 1946 _| grYr
H$m`©dmhr H$m ghmam {b`mü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

105. {ZÂZ{b{IV _| go H$m°Z-gm ^maV _| _yb
A{YH$mam| Ho$ ~mao _| ghr h°?

(A) do gßd°Ym{ZH$ gdm}ÉVm VWm {dYm{`H$m
H$s gŒmm Ho$ _‹` g›VwbZ H$s A{¤Vr`
KmofUm hß°ü&

(B) do bmoJm| Ho$ A{YH$mam| VWm Xoe H$s
gwajm Ho$ _‹` g›VwbZ H$m {Z_m©U H$aVo
h¢ü&

(C) do Z Ho$db amOZr{VH$ Edß H$mZyZr
g_mZVm, ~pÎH$ gm_m{OH$ g_mZVm H$m
^r {ZU©` H$aVo h¢>ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

106. AnamYm| H$s Xmof{g{’ Ho$ gÂ~›Y _| ^maVdf©
Ho$ A›VJ©V, {ZÂZ{b{IV _| go H$m°Z-gm H$WZ
ghr h°?

(A) ^maV Ho$ gß{dYmZ _| "Xwhao XßS>' H$m
‡mdYmZ Zht nm`m OmVm h°ü&

(B) gß{dYmZ _| AnamY go A{YH$ XßS> go
gwajm Xr J`r h°ü&

(C) Xoe _| Cgr AnamY Ho$ {bE, EH$
gaH$mar H$_©Mmar Ho$ {dÈ’ ›`m{`H$ VWm
{d^mJr` H$m`©dm{h`m± H$s Om gH$Vr h¢ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



107. With reference to the Federalism

in India, which of the following

statements is correct?

(A) ‘A Quasi Federal State’ is

the result of Indian

Federalism in the country.

(B) Indian Federalism sets up a

single polity in the country.

(C) Indian Federalism is not

horizontal with strong

unitary base.

(D) More than one of the above

(E) None of the above

108. India has the integrated

judiciary because

(A) there found one

fundamental law and

justice in India with the

Supreme Court at the apex

and the High Courts below

it

(B) the judges of the High

Courts are appointed by the

President

(C) the High Courts are

constituted as the sub-part

of the Central Government

(D) More than one of the above

(E) None of the above

109. Pressure Groups in India suffer

from which of the following?

(A) By culturalism

(B) By lack of ideological

commitments

(C) By lack of autonomous role

in the politics of the country

(D) More than one of the above

(E) None of the above

110. Which type of rights is ‘The

Freedom of Silence’ in India?

(A) The Legal Rights

(B) The Social Rights

(C) The Fundamental Rights

(D) More than one of the above

(E) None of the above
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107. ^maVdf© _| gßKdmX Ho$ gßX^© _|, {ZÂZ{b{IV
_| go H$m°Z-gm H$WZ gÀ` h°?

(A) "EH$ AY©-gßKr` am¡`' Xoe Ho$ A›VJ©V
^maVr` gßKdmX H$m n[aUm_ h°ü&

(B) ^maVr` gßKdmX Xoe _| EH$b
amOÏ`dÒWm ÒWm{nV H$aVm h°ü&

(C) ^maVr` gßKdmX gw—ãT> EH$mÀ_H$ AmYma
Ho$ gmW j°{VO Zht h°ü&

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

108. ^maV EH$sH•$V ›`m`nm{bH$m aIVm h°, ä`m|{H$

(A) ^maV _| EH$ _m°{bH$ {d{Y VWm gdm}É
ÒVa na gdm}É ›`m`mb` Am°a CgHo$
ZrMo CÉ ›`m`mb`m| Ho$ gmW, ›`m`
nm`m OmVm h°

(B) CÉ ›`m`mb`m| Ho$ ›`m`mYre amÔ¥>n{V
¤mam {Z`w∫$ {H$`o OmVo h¢

(C) CÉ ›`m`mb` Ho$›–r` emgZ Ho$ EH$
Cn-^mJ Ho$ Í$n _| J{R>V {H$`o J`o hß°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

109. ^maV _| X~md g_yh {ZÂZ{b{IV _| go {H$ggo
nr{ãS>V h¢?

(A) gßÒH•${VdmX go

(B) {dMmaYmam H$s ‡{V~’Vm H$s H$_r go

(C) Xoe H$s amOZr{V _| Òdm`Œm ^y{_H$m H$s
H$_r go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

110. "Mwn ahZo H$s ÒdVßÃVm' ^maV _| {H$g ‡H$ma
H$m A{YH$ma h°?

(A) H$mZyZr A{YH$ma

(B) gm_m{OH$ A{YH$ma

(C) _yb A{YH$ma

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



111. Match List–I with List–II and

select the correct answer using

the codes given below the Lists :

List—I

(Provisions)

List—II

(Related Articles of

the Constitution of

India)

a. Just and humane

conditions of work

1. Article 43

b. Living wages for

workers

2. Article 42

c. Uniform Civil Code 3. Article 49

d. Protection of

places and objects

of national

importance

4. Article 44

Codes :

(A) a b c d

2 1 4 3

(B) a b c d

3 2 4 1

(C) a b c d

1 3 2 4

(D) More than one of the above

(E) None of the above

112. Which of the following is the

main aim of District Planning

Committees in India?

(A) The unification of plans of

Panchayats and Nagar

Palikas

(B) The preparation of model

planning of the district

(C) The development of unified

attitude among Panchayats

(D) More than one of the above

(E) None of the above

113. The motto of Doordarshan is

(A) Bahujan Hitay : Bahujan

Sukhay

(B) Satyam Shivam Sundaram

(C) Satyameva Jayate

(D) More than one of the above

(E) None of the above

114. Bhagwan Mahavir Wildlife

Sanctuary is located in

(A) Rajasthan

(B) Madhya Pradesh

(C) Goa

(D) More than one of the above

(E) None of the above

21/PV/M–2023–01/S6 (P)/301-A 40



21/PV/M–2023–01/S6 (P)/301-A 41 [ P.T.O.

111. gyMr—I H$mo gyMr—II go gw_o{bV H$s{OE
VWm gy{M`m| Ho$ ZrMo {X`o J`o Hy$Q> go ghr CŒma
H$m M`Z H$s{OE :

gyMr—I

(‡mdYmZ)

gyMr—II

(^maV Ho$ gß{dYmZ go

gÂ~p›YV AZw¿N>oX)

a. H$m`© H$s ›`m`gßJV Edß
_mZdmo{MV XemE±

1. AZw¿N>oX 43

b. H$_©H$mam| H$s {Zdm©h _OXyar 2. AZw¿N>oX 42

c. g_mZ {g{db gß{hVm 3. AZw¿N>oX 49

d. amÔ¥>r` _hŒd Ho$ ÒWmZ Edß
dÒVwAm| H$m gßajU

4. AZw¿N>oX 44

Hy$Q> :

(A) a b c d

2 1 4 3

(B) a b c d

3 2 4 1

(C) a b c d

1 3 2 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

112. {ZÂZ{b{IV _| go, ^maV _| {Obm {Z`moOZ
g{_{V`m| H$m _wª` C‘oÌ` H$m°Z-gm h°?

(A) nßMm`Vmßo Am°a ZJanm{bH$mAm| H$s
`moOZmAm| H$mo EH$sH•$V H$aZm

(B) OZnX H$s ‡mÍ$nr `moOZm V°`ma H$aZm

(C) nßMm`Vm| Ho$ _‹` EH$sH•$V —{Ô>H$moU
{dH${gV H$aZm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

113. XyaXe©Z H$m ‹`o`-dmä` h°

(A) ~h˛OZ {hVm` : ~h˛OZ gwIm`

(B) gÀ`ß {edß gw›Xa_≤

(C) gÀ`_od O`Vo

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

114. ^JdmZ _hmdra d›`Ord A^`ma�` H$hm±
pÒWV h°?

(A) amOÒWmZ

(B) _‹` ‡Xoe

(C) Jmodm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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115. Deendayal Upadhyaya is famous

for

(A) Communism

(B) Capitalism

(C) Integral humanism

(D) More than one of the above

(E) None of the above

116. Who led the movement of

Khudai Khidmatgar?

(A) Khwaja Moinuddin Chishti

(B) Khan Abdul Ghaffar Khan

(C) Sir Syed Ahmad Khan

(D) More than one of the above

(E) None of the above

117. Janjatiya Gaurav Divas was

started from

(A) 15 August, 2015

(B) 26 January, 2019

(C) 15 November, 2021

(D) More than one of the above

(E) None of the above

118. Which State is the largest

producer of pearl millet (Bajra)?

(A) Haryana

(B) Rajasthan

(C) Punjab

(D) More than one of the above

(E) None of the above
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115. XrZX`mb Cnm‹`m` ‡{g’ h°ß

(A) gmÂ`dmX Ho$ {bE

(B) ny±OrdmX Ho$ {bE

(C) EH$mÀ_ _mZddmX Ho$ {bE

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

116. IwXmB© {IX_VJma Am›XmobZ H$mo ZoV•Àd {H$gZo
{X`m?

(A) ªdmOm _moBZw‘rZ {MÌVr

(B) ImZ A„Xwb J‚\$ma ImZ

(C) ga g°`X Ah_X ImZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

117. OZOmVr` Jm°ad {Xdg H$~ go ewÍ$ {H$`m
J`m?

(A) 15 AJÒV, 2015

(B) 26 OZdar, 2019

(C) 15 ZdÂ~a, 2021

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

118. H$m°Z-gm am¡` gdm©{YH$ ~mOam CÀnm{XV H$aVm
h°?

(A) h[a`mUm

(B) amOÒWmZ

(C) nßOm~

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



119. The type of rocks which contain

fossils are called

(A) sedimentary rocks

(B) metamorphic rocks

(C) igneous rocks

(D) More than one of the above

(E) None of the above

120. Oxbow lakes are found in

(A) glaciers

(B) river valleys

(C) deserts

(D) More than one of the above

(E) None of the above

121. The World Water Day is

celebrated on

(A) January 22

(B) February 22

(C) March 22

(D) More than one of the above

(E) None of the above

122. Home State of one-horned rhino

is

(A) Gujarat

(B) Kerala

(C) Assam

(D) More than one of the above

(E) None of the above

123. The largest bauxite producer is

(A) Africa

(B) Brazil

(C) Australia

(D) More than one of the above

(E) None of the above

124. Golden fibre refers to

(A) tea

(B) cotton

(C) jute

(D) More than one of the above

(E) None of the above

125. Which are three main factors

that cause change in the

population?

(A) Birth, death and marriage

(B) Birth, death and migration

(C) Birth, death and life

expectancy

(D) More than one of the above

(E) None of the above

126. The unfavourable alteration of

environment due to human

activities is termed as

(A) ecological disturbance

(B) catastrophe

(C) ecological degradation

(D) More than one of the above

(E) None of the above
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119. e°b, {OZ_o| OrdmÌ_ nm`o OmVo h¢, h¢

(A) AdgmXr e°b

(B) H$m`mßV[aV e°b

(C) Amæo` e°b

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

120. MmnPrb (Am∞äg~mo) Prb nm`r OmVr h°ß

(A) {h_ZXm| _|

(B) ZXr Km{Q>`m| _|

(C) ao{JÒVmZm| _|

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

121. "{dÌd Ob {Xdg' _Zm`m OmVm h°

(A) 22 OZdar H$mo

(B) 22 \$adar H$mo

(C) 22 _mM© H$mo

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

122. EH$ gtJ`w∫$ J°¢S>m H$m J•h-am¡` h°

(A) JwOamV

(B) Ho$ab

(C) Ag_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

123. ~m∞ägmBQ> H$m gdm©{YH$ CÀnmXH$ h°

(A) A\´$sH$m

(B) ~´mOrb

(C) Am∞ÒQ¥>o{b`m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

124. "gwZham aoem' go A{^‡m` h°

(A) Mm`

(B) H$nmg

(C) nQ>gZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

125. OZgßª`m _| n[adV©Z Ho$ VrZ _wª` H$maH$ h¢

(A) O›_, _•À`w Edß {ddmh

(B) O›_, _•À`w Edß ‡dmg

(C) O›_, _•À`w Edß OrdZ-‡À`mem

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

126. _mZd J{V{d{Y`m| Ho$ H$maU n`m©daU _|
‡{VHy$b n[adV©Z H$hbmVm h°

(A) nm[apÒW{VH$ Aemß{V

(B) V~mhr

(C) nm[apÒW{VH$ jaU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



127. Black lung disease is associated

with

(A) farmers

(B) coal miners

(C) textile industry workers

(D) More than one of the above

(E) None of the above

128. What is oil slick?

(A) Boiled oil

(B) Cooled oil

(C) Thin film of oil in seawater

(D) More than one of the above

(E) None of the above

129. What is the animal symbol of

WWF (World Wildlife Fund)?

(A) Red Panda

(B) Giant Panda

(C) Tiger

(D) More than one of the above

(E) None of the above

130. In comparison to pure water,

boiling point of impure water

(A) is same

(B) increases

(C) decreases

(D) More than one of the above

(E) None of the above

131. Ozone holes are more

pronounced at the

(A) equator

(B) tropic of Cancer

(C) tropic of Capricorn

(D) More than one of the above

(E) None of the above

132. Soaps and detergents are the

source of organic pollutants like

(A) glycerol

(B) polyphosphates

(C) sulfonated hydrocarbons

(D) More than one of the above

(E) None of the above

133. The most hazardous metal

pollutant of automobile exhausts

is

(A) mercury

(B) cadmium

(C) lead

(D) More than one of the above

(E) None of the above

134. The main reason why vegetables

take longer to cook in boiling

water at high altitudes, is

(A) water boils at a high

temperature at high altitude

(B) the temperature of the

boiling water decreases with

increasing altitude

(C) there is less oxygen in the

air at high altitude

(D) More than one of the above

(E) None of the above
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127. H$mbo \o$\$ãS>o H$m amoJ gß~ß{YV h°

(A) {H$gmZmoß go

(B) H$mo`bm I{ZH$m| go

(C) H$nãS>m C⁄moJ Ho$ l{_H$m| go

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

128. Vob pÒbH$ ä`m h°?

(A) C~bm h˛Am Vob

(B) R>�S>m Vob

(C) g_w– H$s gVh na Vob H$s nVbr {\$Î_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

129. S>„Î`y0 S>„Î`y0 E\$0 (dÎS>© dmBÎS>bmB\$
\ß$S>) H$m new {Mï ä`m h°?

(A) bmb nmßS>m

(B) {dembH$m` nmßS>m

(C) ~mK (Q>mBJa)

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

130. ew’ nmZr H$s VwbZm _| Aew’ nmZr H$m
π$WZmßH$

(A) g_mZ ahVm h°

(B) ~ãT> OmVm h°

(C) KQ> OmVm h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

131. AmoOmoZ {N>– A{YH$ ÒnÔ> hmoVm h°

(A) ^y_‹`aoIm na

(B) H$H©$aoIm na

(C) _H$aaoIm na

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

132. gm~wZ Edß {S>Q>aOo›Q> ÚmoV h¢ H$m~©{ZH$ ‡XyfU
Ho$, O°go {H$

(A) pΩbgam∞b

(B) nm∞br\$m∞Ò\o$Q>

(C) gÎ\$moZoQ>oS> hmBS¥>moH$m~©Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

133. Am∞Q>mo_mo~mBb {ZH$mg (EΩOm∞ÒQ>) H$m g~go
IVaZmH$ YmVw ‡XyfH$ h°

(A) nmam

(B) H°$S>{_`_

(C) grgm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

134. A{YH$ D±$MmB© na C~bVo h˛E nmZr _| gp„O`m±
nH$Zo _| A{YH$ g_` boVr h¢, ä`m|{H$ BgH$m
_wª` H$maU h°

(A) D±$Mo ÒWmZm| na nmZr ¡`mXm VmnH´$_ na
C~bVm h°

(B) D±$MmB© ~ãT>Zo na C~bVo h˛E nmZr H$m
VmnH´$_ KQ> OmVm h°

(C) D±$Mo ÒWmZm| na hdm _| Am∞ägrOZ H$s
_mÃm KQ> OmVr h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



135. Arrange the words given below

in a meaningful sequence :

1. Punishment

2. Police

3. Crime

4. Justice

5. Judgement

Select the correct answer using

the codes given below.

(A) 3 1 2 4 5

(B) 1 2 3 5 4

(C) 3 2 4 5 1

(D) More than one of the above

(E) None of the above

136. Which one among the following

cannot be formed with

the letters of the word

‘COMPATIBILITY’?

(A) MYOPIC

(B) IMPLICIT

(C) TITLE

(D) More than one of the above

(E) None of the above

137. Ramesh is taller than Mohit but

not as tall as Rajiv. Kamlesh is

taller than Shyam but not as tall

as Mohit. Who among them is

tallest?

(A) Rajiv

(B) Mohit

(C) Kamlesh

(D) More than one of the above

(E) None of the above

138. In a certain code TEA = 33

and EAT = 67, then to which one

of the following ATE is equal

in the same code?

(A) 90

(B) 82

(C) 56

(D) More than one of the above

(E) None of the above

139. As ‘Glass’ is related to ‘Sand’, in

the same way to which one

among the following ‘Paper’ is

related?

(A) Mirror

(B) Stone

(C) Window

(D) More than one of the above

(E) None of the above
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135. ZrMo {XE JE e„Xm| H$mo EH$ gmW©H$ H´$_ _|
Ï`dpÒWV H$s{OE :

1. X�S>

2. nw{bg

3. AnamY

4. ›`m`

5. {ZU©`

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma H$m
M`Z H$s{OEü&

(A) 3 1 2 4 5

(B) 1 2 3 5 4

(C) 3 2 4 5 1

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

136. e„X ‘COMPATIBILITY’ Ho$ Ajam| go
{ZÂZ{b{IV _| go H$m°Z-gm EH$ e„X Zht

~Zm`m Om gH$Vm h°?

(A) MYOPIC

(B) IMPLICIT

(C) TITLE

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

137. a_oe, _mo{hV go bÂ~m h° na›Vw amOrd {OVZm
bÂ~m Zht h°ü& H$_boe, Ì`m_ go bÂ~m h°
na›Vw _mo{hV {OVZm bÂ~m Zht h°ü& BZ_| g~go
bÂ~m H$m°Z h°?

(A) amOrd

(B) _mo{hV

(C) H$_boe

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

138. `{X EH$ {ZpÌMV Hy$Q> _| TEA = 33 Edß
EAT = 67 h°, Vmo {ZÂZ{b{IV _| go ATE

Cgr Hy$Q> _| {H$gHo$ ~am~a h°?

(A) 90

(B) 82

(C) 56

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

139. {Og ‡H$ma "H$m±M' gÂ~p›YV h° "~mby' go,
Cgr ‡H$ma {ZÂZ{b{IV _| go {H$g EH$ go
"H$mJO' gÂ~p›YV h°?

(A) Xn©U

(B) nÀWa

(C) {IãS>H$s

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht



140. Examine the following three

figures in which the numbers

used follow a specific pattern :

What is the missing number (?)

in the third figure?

(A) 8

(B) 6

(C) 3

(D) More than one of the above

(E) None of the above

141. How many rectangles are there

in the figure given below?

(A) 18

(B) 16

(C) 10

(D) More than one of the above

(E) None of the above

142. Between 6 and 7 O’clock, the

two hands of a clock will be

together at

(A) 6 past 32
5

7
minutes

(B) 6 past 32
8

11
minutes

(C) 6 past 32
9

11
minutes

(D) More than one of the above

(E) None of the above

143. If 9 7 32* = , 13 7 120* = and

17 9 208* = , then what is the

value of 19 11* ?

(A) 180

(B) 220

(C) 240

(D) More than one of the above

(E) None of the above

144. Find the missing number from

the following series :

5, 17, 37, 65, _____, 145

(A) 101

(B) 95

(C) 99

(D) More than one of the above

(E) None of the above
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140. {ZÂZ{b{IV VrZ AmH•${V`m| H$m narjU
H$s{OE, {OZ_| ‡`w∫$ gßª`mE± EH$ {d{eÔ>
‡{VÍ$n _| h¢ :

Vrgar AmH•${V _| bw· gßª`m (?) ä`m h°?

(A) 8

(B) 6

(C) 3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

141. ZrMo {XE JE {MÃ _| Hw$b {H$VZo Am`V h¢?

(A) 18

(B) 16

(C) 10

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

142. 6 Edß 7 ~Oo Ho$ _‹` EH$ KãS>r H$s Xmo gwB`m±
EH$ gmW hm|Jr

(A) 6 ~OH$a 32
5

7
{_ZQ na>

(B) 6 ~OH$a 32
8

11
{_ZQ> na

(C) 6 ~OH$a 32
9

11
{_ZQ na>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

143. `{X 9 7 32* = , 13 7 120* = VWm
17 9 208* = , Vmo 19 11* H$m _mZ ä`m
h°?

(A) 180

(B) 220

(C) 240

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

144. ZrMo Xr JB© ˚m•ßIbm _| {dbw· gßª`m kmV
H$s{OE :

5, 17, 37, 65, _____, 145

(A) 101

(B) 95

(C) 99

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

65 56

9

83 7138 17

7 ?



145. Choose the word which is least

similar to the other words in the

group.

(A) Rose

(B) Marigold

(C) Lotus

(D) More than one of the above

(E) None of the above

146. Choose the missing term out of

the given alternatives :

AZ, GT, MN, ? , YB

(A) SH

(B) KF

(C) TS

(D) More than one of the above

(E) None of the above

147. If in a certain language

‘REMOTE’ is coded as

‘ROTEME’, then which code

would be coded as ‘SLOWLY’?

(A) SLYLWO

(B) SWLLOY

(C) SYLLWO

(D) More than one of the above

(E) None of the above

148. If you are a manager and one of

your employees is not working

properly, as a manager you

would

(A) talk to him and try to find

out his problem

(B) fire him

(C) give him two weeks to

improve

(D) More than one of the above

(E) None of the above

149. In a class of 60 students, where

girls are twice that of boys, A

ranked seventeenth from the

top. If there are 9 girls ahead of

A, then how many boys are after

A in ranks?

(A) 7

(B) 12

(C) 23

(D) More than one of the above

(E) None of the above

150. Choose the odd one out.

(A) NH6

(B) FL18

(C) XQ7

(D) More than one of the above

(E) None of the above
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145. dh e„X Mw{ZE, Omo g_yh Ho$ A›` e„Xm| go
H$_-go-H$_ _ob ImVm hmo :

(A) Jwbm~

(B) J|Xo H$m \y$b

(C) H$_b

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

146. {XE JE {dH$Înm| _| go bw· nX Mw{ZE :

AZ, GT, MN, ? , YB

(A) SH

(B) KF

(C) TS

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

147. `{X {H$gr {ZpÌMV ^mfm _| ‘REMOTE’ H$mo
‘ROTEME’ Ho$ Í$n _| H$mo{S>V {H$`m OmVm
h°, Vmo H$m°Z-gm H$moS> ‘SLOWLY’ Ho$ Í$n _|
H$mo{S>V {H$`m OmEJm?

(A) SLYLWO

(B) SWLLOY

(C) SYLLWO

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

148. `{X Amn EH$ ‡~ßYH$ h¢ Am°a AmnH$m H$moB©
H$_©Mmar R>rH$ go H$m_ Zht H$a ahm h°, Vmo EH$
‡~ßYH$ Ho$ Í$n _| Amn

(A) Cggo ~mV H$a|Jo Am°a CgH$s g_Ò`m
OmZZo H$m ‡`mg H$a|Jo

(B) Cgo {ZH$mb X|Jo

(C) Cgo gwYaZo Ho$ {bE Xmo g·mh H$m g_`
X|Jo

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

149. 60 {d⁄m{W©`m| H$s EH$ H$jm _|, Ohm±
bãS>{H$`m±, bãS>H$m| go XmoJwZr h¢, A erf© go
gÃhd| ÒWmZ na h°ü& `{X A go AmJo 9

bãS>{H$`m± h¢, Vmo CgHo$ ~mX {H$VZo bãS>Ho$ h¢?

(A) 7

(B) 12

(C) 23

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

150. A›` go {^fi H$mo Mw{ZE :

(A) NH6

(B) FL18

(C) XQ7

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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21/PV/M–2023 nwpÒVH$m ˚m•ßIbm

CÂ_rXdma H$m AZwH´$_mßH$

‡ÌZ-nwpÒVH$m

^mfm Edß gm_m›` A‹``Z

‡ÌZm| Ho$ CŒma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo ‹`mZ go nãT> b|ü&

_hŒdnyU© AZwXoe
1. `h ‡ÌZ-nwpÒVH$m Xmo ^mJm| _| {d^m{OV h°, ^mJ–I Edß ^mJ–II. ^mJ–I _| ^mfm (Ah©Vm) Ho$ ‡ÌZ VWm ^mJ–II _| gm_m›`

A‹``Z Ho$ ‡ÌZ h¢ü& ^mJ–I _| AßJóOr ^mfm Ho$ ‡ÌZ h¢, Omo g^r narjm{W©`m| Ho$ {bE g_mZ h¢ VWm VrZm| ^mfmAm|—{h›Xr ^mfm, CX©y
^mfm VWm ~ßJbm ^mfm Ho$ ‡ÌZ h¢ü& VrZm|  ^mfmAm|  _|  go  {H$gr  EH$  ^mfm Ho$ ‡ÌZ H$mo MwZ|ü&

2. ^mJ–I _| ‡ÌZ gßª`m 1 go 30 VH$ ‡ÌZ h¢ü& ^mJ–I _| AßJóOr ^mfm _| ‡ÌZ gßª`m E–1 go E–8 VH$ (g^r Ho$ {bE g_mZ),
{h›Xr ^mfm _| ‡ÌZ gßª`m H–9 go H–30 VH$, CX©y ^mfm _| ‡ÌZ gßª`m U–9 go U–30 VH$ VWm ~ßJbm ^mfm _| ‡ÌZ gßª`m
B–9 go B–30 VH$ h¢ü& ^mJ–II _| ‡ÌZ gßª`m 31 go 150 VH$ gm_m›` A‹``Z Ho$ ‡ÌZ h¢ (‡ÌZ Am°a CZHo$ CŒma AßJóOr Edß
{h›Xr _|  _w{–V h¢)ü&

3. g^r ‡ÌZm|  Ho$  AßH$  g_mZ h¢ü&
4. narjm AmaÂ^ hmoVo hr Amn AnZr ‡ÌZ-nwpÒVH$m H$s Om±M H$a XoI b| {H$ BgHo$ D$na Xm`t Amoa ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm

_w{–V h°ü& H•$n`m Om±M b| {H$ nwpÒVH$m _| aµ\$ H$m`© hoVw Xmo n•>m| (n•> gßª`m 54 Edß 55) g{hV nyao 56 _w{–V n•> h¢ Am°a
H$moB© ‡ÌZ `m n•> {~Zm N>nm h˛Am `m \$Q>m h˛Am `m Xmo~mam Am`m h˛Am Vmo Zht h°ü& nwpÒVH$m _| {H$gr ‡H$ma H$s Ãw{Q> nmZo na
VÀH$mb BgHo$  ~Xbo Bgr ˚m•ßIbm  H$s Xygar ghr nwpÒVH$m  bo  b|ü&

5. Bg  n•>  Ho$  D$na {ZYm©[aV ÒWmZ _| AnZm AZwH´$_mßH$ AdÌ`  {bI|ü& ‡ÌZ-nwpÒVH$m na Am°a Hw$N>  Z  {bI|ü&
6. ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE AmnH$mo drjH$ ¤mam AbJ go CŒma nÃH$ {X`m Om òJmü& AnZo CŒma nÃH$ Ho$ n•>-1 na {ZYm©[aV ÒWmZ _|

AnZm Zm_ VWm A›`  {ddaU AdÌ`  {bI| A›`Wm AmnH$m CŒma nÃH$  Om±Mm Zht Om`oJmü&

7. CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ _| AnZo AZwH´$_mßH$ VWm ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm A, B, C `m D O°gm Bg
‡ÌZ-nwpÒVH$m Ho$ AmdaU n•> Ho$ D$na Xm`t Amoa Aß{H$V h°, go gÂ~p›YV d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go AdÌ`
Hy$Q>~’ H$a|ü& CŒma nÃH$ na ‡ÌZ-nwpÒVH$m ˚m•ßIbm Aß{H$V Zht H$aZo AWdm JbV ˚m•ßIbm Aß{H$V H$aZo na CŒma nÃH$ H$m
ghr _yÎ`mßH$Z Zht hmoJmü&

8. Bg ‡ÌZ-nwpÒVH$m _| g^r ‡ÌZ Am°a CZHo$ CŒma AßJóOr Edß {h›Xr _| _w{–V h¢ü& ‡À òH$ ‡ÌZ Ho$ nm±M CŒmaçç(A), (B), (C), (D)

Am°a (E) H´$_ na {X`o J`o h¢ü& CZ_| go Amn g~go ghr Ho$db EH$ CŒma H$mo MwZ| Am°a AnZo CŒma nÃH$ na Aß{H$V H$a|ü& AmnH$m Hw$b
‡m·mßH$ AmnHo$ ¤mam CŒma nÃH$  _|  Aß{H$V ghr CŒmam| na {Z^©a hmoJmü&

9. CŒma nÃH$ _| ‡À òH$ ‡ÌZ gßª`m Ho$ gm_Zo nm±M d•Œm Bg ‡H$ma ~Zo h˛E h¢çç , , , Am°a ü& ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE
AmnH$mo AnZr ng›X Ho$ Ho$db EH$ d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go {M{ïV H$aZm h°ü& ‡À òH$ ‡ÌZ Ho$ {bE
Ho$db EH$ CŒma H$mo MwZ| Am°a Cgo AnZo CŒma nÃH$ _| {M{ïV H$a|ü& Amn CŒma nÃH$ _| `{X EH$ ‡ÌZ Ho$ {bE EH$ go A{YH$ d•Œm _|
{ZemZ bJmVo h¢, Vmo AmnH$m CŒma JbV _mZm Om òJmü& CŒma nÃH$ _| CŒma H$mo {M{ïV H$aZo Ho$ {bE Ho$db H$mbr/Zrbr Ò`mhr Ho$
~m∞b-nm∞B›Q> noZ H$m  hr  ‡`moJ H$a|ü&  {H$gr  ^r ‡H$ma  H$m  H$mQ>-Hy$Q> AWdm n[adV©Z  _m›` Zht h°ü&

10. `{X {H$gr ‡ÌZ _| {H$gr ‡H$ma H$s H$moB© _w–U `m Vœ`mÀ_H$ ‡H$ma H$s Ãw{Q> hmo, Vmo ‡ÌZm| Ho$ AßJóOr VWm {h›Xr Í$nm›Vam| _| go AßJóOr
Í$nm›Va H$mo  _mZH$  _mZm Om òJmü&

11. ‡ÌZ-nwpÒVH$m go H$moB© nfim \$mãS>Zm `m AbJ H$aZm _Zm h°ü& ‡ÌZ-nwpÒVH$m Am°a CŒma nÃH$ H$mo narjm H$s Ad{Y _| narjm ^dZ go ~mha
H$Xm{n Z bo Om`|ü& narjm Ho$ g_mnZ na CŒma nÃH$ drjH$ H$mo AdÌ` gm¢n X|ü& CgHo$ ~mX AmnH$mo AnZr ‡ÌZ-nwpÒVH$m AnZo
gmW bo OmZo H$s AZw_{V  h°ü&

12. D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h° AWdm AmnH$mo
X�S>  {X`m  Om gH$Vm h°ü&

13. A‰`Wu CŒma nÃH$ H$mo AnZr CnpÒW{V _| Self Adhesive LDPE Bag _| nyar Vah go n°H$/grb H$admZo Ho$ Cnam›V hr narjm
H$j  H$mo  N>moãS>|ü&

Note : English version of the instructions is printed on the First Page of this Booklet.
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